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Find the exact value w;thout a calculator.
1. ok = f—- //
arctan 3 3 9, arctun( tan §4£) = ‘llé

woaif ’*'E_
2. sin [_.2_) - ) H
10. COS_I[COS(T) = 7

3. tan'0 = O o
1. sinftan'(=1)) = ~ %_

v . n T
12. arcsm(cos(zn = 2

5. tan"(—\/i) - ,_27_
- 13. arccos(cos:r) A

- Ia

6. arcsinl = 7

14, tan” (cosz) = -

1

' T
7. sin"(sin3—”) s
4 t 15. sin[arcsin(O.B)] =0.%

8. cos"(cos-l-lgl) e L 16. tan(arctan25) = 2.5
=

Find the exact value of the expression. (Hint: Sketch a right triangle.)
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t is equivalent to the expression. (Hint: Sketch a ri

Write an algebraic exp,
20. sec(arctan3x) -

19. cos(arcsin 2x)
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